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Direction:

In the following passage, some of the wor ds have been left out, each of which isindicated by a number. Find the
suitable word from the options given against each number and fill up the blankswith appropriate wordsto make
the paragraph meaningfully complete.

India’s second moon mission, Chandrayaan-2, was 1 from launch just 56 minutes before

its scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-Ill rocket launcher. No

rescheduled date has been 2 for launch. This has no doubt served as a damper on those who
eagerly looked forward to India being only the fourth country to launch a mission that would land on the moon,
and the very first to land on and explore its south pole region. Yet, it was best that the glitch was

3 before the launch. Rocket launches always have a nail-biting finish. Even the GSLV-

D1, the slighter predecessor to the GSLV Mark-lll, 4 such a setback when it was about to be

launched for its first developmental test flight in 2001. It was called off exactly one second before launch, as it was
discovered that one of the four liquid propellant strap-on stages had not developed the required thrust. This test

flight was 5 just 21 days later, paving the way for several successful launches of the GSLV

rocket subsequently.

Question No.1

Choose the most appropriate option to fill the blank.

Options:

1. pulled at

2. pulled off

3. pulled back
4. pulled down

5. none of these

Answer : pulled back

Direction:

In the following passage, some of the wor ds have been left out, each of which isindicated by a number. Find the
suitable word from the options given against each number and fill up the blankswith appropriate wordsto make
the paragraph meaningfully complete.
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India’s second moon mission, Chandrayaan-2, was 1 from launch just 56 minutes before

its scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-Ill rocket launcher. No

rescheduled date has been 2 for launch. This has no doubt served as a damper on those who

eagerly looked forward to India being only the fourth country to launch a mission that would land on the moon,
and the very first to land on and explore its south pole region. Yet, it was best that the glitch was

3 before the launch. Rocket launches always have a nail-biting finish. Even the GSLV-

D1, the slighter predecessor to the GSLV Mark-Ill, 4 such a setback when it was about to be
launched for its first developmental test flight in 2001. It was called off exactly one second before launch, as it was
discovered that one of the four liquid propellant strap-on stages had not developed the required thrust. This test

flight was 5 just 21 days later, paving the way for several successful launches of the GSLV

rocket subsequently.

Question No. 2

Choose the most appropriate option to fill the blank.

Options:

1. announced
2. disdain
3. claimed
4. conducted

5. none of these

Answer : announced

Direction:

In the following passage, some of the wor ds have been left out, each of which isindicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate wordsto make
the paragraph meaningfully complete.

India’s second moon mission, Chandrayaan-2, was 1 from launch just 56 minutes before

its scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-Ill rocket launcher. No

rescheduled date has been 2 for launch. This has no doubt served as a damper on those who

eagerly looked forward to India being only the fourth country to launch a mission that would land on the moon,

and the very first to land on and explore its south pole region. Yet, it was best that the glitch was
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3 before the launch. Rocket launches always have a nail-biting finish. Even the GSLV-

D1, the slighter predecessor to the GSLV Mark-Ill, 4 such a setback when it was about to be

launched for its first developmental test flight in 2001. It was called off exactly one second before launch, as it was
discovered that one of the four liquid propellant strap-on stages had not developed the required thrust. This test

flight was 5 just 21 days later, paving the way for several successful launches of the GSLV

rocket subsequently.

Question No. 3

Choose the most appropriate option to fill the blank.

Options:

1. catalyzed
2. drifted

3. suffered

4. discovered

5. none of these

Answer : discovered

Direction:

In the following passage, some of the words have been left out, each of which isindicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate wordsto make
the paragraph meaningfully complete.

India’s second moon mission, Chandrayaan-2, was 1 from launch just 56 minutes before

its scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-Ill rocket launcher. No

rescheduled date has been 2 for launch. This has no doubt served as a damper on those who

eagerly looked forward to India being only the fourth country to launch a mission that would land on the moon,
and the very first to land on and explore its south pole region. Yet, it was best that the glitch was

3 before the launch. Rocket launches always have a nail-biting finish. Even the GSLV-

D1, the slighter predecessor to the GSLV Mark-Ill, 4 such a setback when it was about to be

launched for its first developmental test flight in 2001. It was called off exactly one second before launch, as it was
discovered that one of the four liquid propellant strap-on stages had not developed the required thrust. This test

flight was 5 just 21 days later, paving the way for several successful launches of the GSLV
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rocket subsequently.

¢ Question No. 4
Choose the most appropriate option to fill the blank.
Options:

1. headed

2. suffered

3. manipulated
4. conceived

5. none of these
Answer : suffered

Direction:

In the following passage, some of the wor ds have been left out, each of which isindicated by a number. Find the
suitable word from the options given against each number and fill up the blankswith appropriate wordsto make
the paragraph meaningfully complete.

India’s second moon mission, Chandrayaan-2, was 1 from launch just 56 minutes before

its scheduled liftoff on July 15. This was owing to a technical glitch in the GSLV Mark-Ill rocket launcher. No

rescheduled date has been 2 for launch. This has no doubt served as a damper on those who

eagerly looked forward to India being only the fourth country to launch a mission that would land on the moon,

and the very first to land on and explore its south pole region. Yet, it was best that the glitch was

3 before the launch. Rocket launches always have a nail-biting finish. Even the GSLV-

D1, the slighter predecessor to the GSLV Mark-Ill, 4 such a setback when it was about to be

launched for its first developmental test flight in 2001. It was called off exactly one second before launch, as it was
discovered that one of the four liquid propellant strap-on stages had not developed the required thrust. This test

flight was 5 just 21 days later, paving the way for several successful launches of the GSLV

rocket subsequently.

e Question No. 5

Choose the most appropriate option to fill the blank.
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Options:

1. show-case
2. link

3. distributed
4. conducted

5. none of these
Answer : conducted

Direction:

(Q.36-40): In each question below, a sentenceis given with a part of it printed in bold type. That part may contain a
grammatical error. Each sentenceisfollowed by phrases 1), 2), 3) and 4). Find out which phrase should replace the
phrase given in bold to correct theerror, if thereisany, and to make the sentence grammatically meaningful and
correct.

e Question No. 6
The leeward side of Sirumalai hills arean unique ecosystemsthat receiving optimum rain and shine.
Options:

1.is a unique ecosystem that receiving

2. are an unique ecosystem that receives
3.are a unique ecosystem when receiving
4.is a unique ecosystem that receives

5. No correction required
Answer : is a unique ecosystem that receives

Direction:

(Q.36-40): In each question below, a sentenceis given with a part of it printed in bold type. That part may contain a
grammatical error. Each sentenceisfollowed by phrases 1), 2), 3) and 4). Find out which phrase should replace the
phrase given in bold to correct theerror, if thereisany, and to make the sentence grammatically meaningful and
correct.

e Question No.7

The team is developing a Buddhist circuitory in state from will also showcase the State capital of Amaravati.
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Options:

1. circuit of the state which
2. circuitory in state from
3. circuit in state from

4. circuitory in state which

5. No correction required
Answer : circuit of the state which

Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

e Question No. 8

The Supreme Court concerned (A) the Central government’s commitment towards the speedy trial andwithdrawn
(B) that a criminal case against an MP or MLA could bedirected (C) only after getting the consent of the High

Court questioned (D).
Options:

1. Only A-C
2.0Only B-D
3.A-Band C-D
4. A-D and B-C

5. No exchange required
Answer : A-D and B-C

Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentenceisthen followed by options with the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

e Question No. 9
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The decision expected (A) on a day when the government gave an evacuation (B) call for urgent (C) of all Indian

nationals from the Afghan city in a special flight that iscame (D) to operate on late Tuesday.
Options:

1.Only A-B
2. A-D and B-C
3.0nly C-D
4. A-Cand B-D

5. No exchange required
Answer : A-D and B-C

Direction:

Directions: In each of the questions given below, four words aregiven in bold. These four words may or may not be
in their correct position. The sentence isthen followed by options with the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceis correct asit is, select ‘E’ asyour option.

e Question No.10

Though money laundering cases are bearing (A) on First Information Reports of other law-enforcing agencies, the

outcome (B) of such cases need not have a based (C) on the investigation into the offence (D) under PMLA Act.
Options:

1. Only A-C
2.0nly A-D
3.0nly B-D
4. A-Band C-D

5. No exchange required
Answer : Only A-C

Direction:

I'n each of the following questions a sentenceis given with four of itswordsprinted in bold. One of the four bold
wor ds may be misspelt or inappropriate. You haveto identify that word and choose the appropriate option as your
answer. If all wordsgiven in the bold are correctly spelt and also appropriate in the context of the sentence, then
‘All Correct’ isyour answer.
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e Question No. 1

The income tax department summoned the son of an ex-MLA, who announced his candidacy early this week, in

connection with the seizur e of Rs.1 crore unaccount cash near Petta on March 23.
Options:

1. summoned
2. candidacy
3. seizure

4. unaccount

5. All correct
Answer : unaccount

Direction:

In each of the following questions a sentence is given with four of itswords printed in bold. One of the four bold
wor ds may be misspelt or inappropriate. You haveto identify that word and choose the appropriate option as your
answer. |f all wordsgiven in the bold are correctly spelt and also appropriatein the context of the sentence, then
‘All Correct’ isyour answer.

e Question No. 12

Portugal have themselvesto blame for squandering a two-goal lead against Serbia in their World Cup qualifier

before a livid Christiano Ronaldo was denyed a clear winner in stoppage time.
Options:

1. themselves
2. squandering
3. livid

4. denyed

5. All correct
Answer : denyed

Direction:
In the following question, some words are given out of which one word is incorrectly spelt. Select the incorrect

word.
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e Question No.13
Select the appropriate answer.
Options:

1. allowance
2. asent

3. affirmation
4. adoption

5. adept
Answer : asent

Direction:

In the following question, some words are given out of which one word is incorrectly spelt. Select the incorrect

word.
e Question No. 14
Select the appropriate answer.

Options:

1. acomplished
2. expert
3.synonym

4. skillful

5. versed
Answer : acomplished

Direction:
In the following question, some words are given out of which one word is incorrectly spelt. Select the incorrect

word.
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e Question No. 15
Select the appropriate answer.
Options:

1. savvy

2. obtusse

3. coarse

4. perceptive

5. intelligent
Answer : obtusse

Direction:

Rearrange the following sentencesin the proper sequenceto form a meaningful / coherent paragraph and answer
the following questions.

A. The young woman was dressed in sealskin, and carried one of those little Pekinese dogs that women in sealskin

like to carry in their laps.

B. It was a bitterly cold night, and even at the far end of the bus the east wind that raved along the street cut like a

knife.
C. Then his eyes rested with old malice on the beady eyed toy dog.
D. The conductor came in and took the fares.

E. The bus stopped and two women and a man got in together and filled the vacant places.

e Question No. 16
Which of the following is the third sentence of the paragraph after rearrangement?
Options:

1E
2.B

3.C
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4.A

5.D
Answer: A

Direction:

Rearrange the following sentencesin the proper sequence to form a meaningful / coher ent paragraph and answer
the following questions.

A. The young woman was dressed in sealskin, and carried one of those little Pekinese dogs that women in sealskin

like to carry in their laps.

B. It was a bitterly cold night, and even at the far end of the bus the east wind that raved along the street cut like a

knife.
C. Then his eyes rested with old malice on the beady eyed toy dog.
D. The conductor came in and took the fares.

E. The bus stopped and two women and a man got in together and filled the vacant places.

Question No. 17
Which of the following is the last sentence of the paragraph after rearrangement?
Options:

1.E

2.B
3.C
4.F

5.D
Answer : C

Direction:

Rearrange the following sentencesin the proper sequenceto form a meaningful / coherent paragraph and answer
the following questions.

A. The young woman was dressed in sealskin, and carried one of those little Pekinese dogs that women in sealskin

like to carry in their laps.
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B. It was a bitterly cold night, and even at the far end of the bus the east wind that raved along the street cut like a

knife.
C. Then his eyes rested with old malice on the beady eyed toy dog.
D. The conductor came in and took the fares.

E. The bus stopped and two women and a man got in together and filled the vacant places.

Question No. 18
Which of the following is the first sentence of the paragraph after rearrangement?
Options:

1.E

2.B
3.C
4.A

5D
Answer : B

Direction:

Rearrange the following sentencesin the proper sequenceto form a meaningful / coherent paragraph and answer
the following questions.

A. The young woman was dressed in sealskin, and carried one of those little Pekinese dogs that women in sealskin

like to carry in their laps.

B. It was a bitterly cold night, and even at the far end of the bus the east wind that raved along the street cut like a

knife.
C. Then his eyes rested with old malice on the beady eyed toy dog.
D. The conductor came in and took the fares.

E. The bus stopped and two women and a man got in together and filled the vacant places.
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e Question No.19
Which of the following is the fourth sentence of the paragraph after rearrangement?
Options:

1E

2.B
3.C
4.A

5.D
Answer : D

Direction:

Rearrange the following sentencesin the proper sequenceto form a meaningful / coherent paragraph and answer
the following questions.

A. The young woman was dressed in sealskin, and carried one of those little Pekinese dogs that women in sealskin

like to carry in their laps.

B. It was a bitterly cold night, and even at the far end of the bus the east wind that raved along the street cut like a

knife.
C. Then his eyes rested with old malice on the beady eyed toy dog.
D. The conductor came in and took the fares.

E. The bus stopped and two women and a man got in together and filled the vacant places.

e Question No. 20
Which of the following is the second sentence of the paragraph after rearrangement?
Options:

1E
2.B

3.C
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4.A

5.D
Answer: E

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who's young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who’s not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being

seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
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hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.

Question No. 21
What was the initial reaction of the 43-year-old client towards the 26-year-old woman she met at Pilates class?
Options:

1. She was impressed by her youthful energy.

2. She was intrigued by her ability to stay connected with others.

3. She was judgmental and assumed the younger woman had an easy life.
4. She was supportive of the younger woman'’s efforts to find a cook.

5. None of the above
Answer : She was judgmental and assumed the younger woman had an easy life.

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who's young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who’s not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.



0D
ixam Pees @

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.

Question No. 22

According to the passage, why are inter-generational friendships particularly valuable during times of major life

changes?
Options:

1. They provide an opportunity for mentorship and career advancement.

2. They offer a sense of connection and understanding from people who have experienced similar life stages.
3. They help in finding community events and social gatherings.

4. They allow for shared experiences in work and professional life.

5. None of the above
Answer : They offer a sense of connection and understanding from people who have experienced similar life stages.

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |

talked to her, I realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
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for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who’s young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who’s not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.
Question No. 23
How does the passage suggest inter-generational friendships impact individuals' perspectives and resilience?

Options:

1. They limit one's view to only age-specific issues, thereby reducing resilience.

2. They offer a new lens and enhance openness, contributing to greater resilience.
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3. They create echo chambers that reinforce one's existing beliefs.
4. They primarily focus on professional development rather than personal growth.

5. None of the above
Answer : They offer a new lens and enhance openness, contributing to greater resilience.

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, I realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who's young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who's not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming

and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
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seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.

e Question No. 24

Why might women discuss the benefits of inter-generational friendships more frequently than men, according to

the passage?
Options:

1. Women are more likely to engage in activities like exercise classes and book clubs where such friendships
are formed.

2. Women have more time to devote to maintaining diverse social connections.

3. Men generally prefer friendships within their own age group and are less open to inter-generational
relationships.

4. Women are more likely to experience grief and loss, leading them to seek support from different age
groups.

5. All of the above

Answer : Women are more likely to engage in activities like exercise classes and book clubs where such friendships

are formed.

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who’s young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who's not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid

ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
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friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.
Question No. 25
What role do inter-generational friendships play in providing emotional support, as highlighted in the passage?

Options:

1. They offer a professional network for career advancement.

2. They help individuals remain within their own social echo chambers.

3. They provide guidance, mentorship, and a stabilizing influence during times of emotional need.
4. They mainly focus on shared hobbies and interests without addressing emotional needs.

5. All of the above
Answer : They provide guidance, mentorship, and a stabilizing influence during times of emotional need.

Direction:
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Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who's young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who’s not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.

e Question No. 26
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What central theme is conveyed about inter-generational friendships in the passage?
Options:

1. They are beneficial primarily for professional and career growth.

2. They provide a sense of community and broaden one's perspective, enhancing resilience.
3. They often lead to misunderstandings due to differing life stages.

4. They are more common among men than women in social settings.

5. None of the above
Answer : They provide a sense of community and broaden one&#039;s perspective, enhancing resilience.

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, I realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who's young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who’s not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel

anchored. However, | must say that | hear more women talk about the power of these friendships compared to
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men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.

Question No. 27

What is the antonym of "energising" as used in the passage to describe the effect of being around someone filled

with dreams and ambition?
Options:

1. Motivating
2. Stimulating
3. Draining

4. Invigorating

5. None of the above
Answer : Draining

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who's young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who’s not my age and now this friendship is one of the highlights of 2023.”
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Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.

Question No. 28

What is the synonym of "solace" as used in the passage to describe what people might seek during times of

change?
Options:

1. Disquiet
2. Relief
3. Conflict

4. Challenge
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5. None of the above
Answer : Relief

Direction:

Read the passage car efully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who’s young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who's not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.

A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their

hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are
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qualities which are deeply associated with resilience.

e Question No. 29
What is the synonym of "forged" as used in the passage?
Options:

1. Impeded

2. Established
3. Destroyed
4. Stemmed

5. None of the above
Answer : Established

Direction:

Read the passage carefully and answer the following questions.

A 43-year-old client tells me, “I have become friends with a 26-year-old woman | met at my Pilates class. For the
longest time | kept judging her, because she was constantly on the phone. Then some time ago, she asked me if |
knew someone who could cook for her as she lives alone and hasn’t been able to find a good cook. The more |
talked to her, | realised how judgmental | had been about her life assuming she has it easy. Yesterday she was going
for a salsa trial class, and invited me to come with her. | felt so touched and realised how being around a person
who’s young, filled with dreams and ambition is so energising and inspiring. | feel less jaded and bitter. | thought |

never could be friends with someone who's not my age and now this friendship is one of the highlights of 2023.”

Inter-generational friendships have a beauty of their own. At a time when we are working remotely and in hybrid
ways, glued to our phones and devices, struggling with loneliness and finding community, inter-generational
friendships feel like a breath of fresh air. Very often | ask clients to mindfully work towards building and
strengthening these friendships. For clients who are doing long-term therapy work, sometimes it’s part of their
homework. Particularly when people are transitioning to a different city or country; going through changes such as
marriage, motherhood, children moving out of homes; or experiencing grief. These are times when we might not
feel centered, and find no solace in friends, especially if they have not experienced something similar, or are

developmentally at a different life stage.
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A 30-year-old client mentioned that when she lost her mother, none of her friends could really understand, or be
there in ways she needed them because they had not experienced parental grief, and it was her intergenerational
friendships that helped her. Cross-generational friendships have the power to provide us hope and help us feel
anchored. However, | must say that | hear more women talk about the power of these friendships compared to
men. Even in therapy, it is the female clients who talk about how at an exercise class, book club, or then in their
own neighbourhood, they have forged these friendships. Having said that, no matter how and when these

friendships are formed, they allow both younger and older folks a new lens of being.

These friendships offered a place to laugh, spend time together, and also guidance and mentorship. It felt calming
and stabilising and that’s when | realised how a sense of community brings such a feeling of belonging and being
seen. Clients say these friendships allow them to not get stuck in their own echo chambers, have openness in their
hearts and perspective when it comes to the bigger picture. Our capacity for openness and perspective are

qualities which are deeply associated with resilience.
Question No. 30
What is the antonym of "resilience" as used in the context of the passage?

Options:

1. Strength

2. Flexibility

3. Vulnerability
4. Endurance

5. None of the above

Answer : Vulnerability

Question No. 31

380 ml of a mixture contains milk and water in the ratio of 9 respectively. If 60 ml of water and 70 ml of milk are

added into it, then the ratio of milk to water in the resulting mixture will be 7:2. Find the value of ‘u’.
Options:

1.4
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2.5
3.6
4.2

5. None of these

Answer: 2

e Question No. 32

The perimeter of a square field is 10 cm more than the perimeter of a rectangle. The length of the rectangle is 60 cm
which is 80% of its width. If a street of width 10 cm surrounds from outside the square, then find the total cost of

constructing the street at the rate of Rs. 20 per sg. cm.
Options:

1. 42000
2.64000
3.36000
4.56000

5. None of these

Answer : 64000

e Question No. 33

The likelihood that Maya secures a place in college D is 90% and in college E is 85%. Maya's order of preference is
‘D', then 'E', and finally 'F. Assuming Maya secures admission to college 'F', what is the probability she will go to

college 'F'?
Options:

1.5.125
2.0.015
3.0.132
4.0.029

5. none of these
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Answer : 0.015

Question No. 34

Ravi and Sita together can complete a piece of work in 150 days and 3 minutes, while Sita and Ramesh together can
complete the same work in 90 days and 2.5 minutes. If the efficiency of Ramesh is 39.98% less than that of Sita, then

find the approximate time taken by all three of them to complete 75% of the work together.
Options:

1. 60 days
2. 45 days
3.28 days
4.18 days

5. None of these

Answer : 60 days

Question No. 35

A boat covers 30 km downstream in 60 minutes. If the ratio of the speed of the boat in still water to that of the

speed of the stream is 8:4, respectively, then find the time taken by the boat to cover a distance of 15 km upstream.
Options:

1. 50 mins
2.90 mins
3.95 mins
4.65 mins

5. None of these
Answer : 90 mins

Direction:
Study the information given below and answer the following question

A Titan company sold two types of watches: Digital and Analog. The line graph below provides data on the number

of watches sold by the company over four different years (2017,2018,2019 and 2020)
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e Question No. 36

If the company wants to increase the sale of digital watches by 20% in 2021, how many digital watches should be

sold in 20217
Options:

1.600
2.672
3.580
4.560

5. None of these
Answer : 672

Direction:
Study the information given below and answer the following question

A Titan company sold two types of watches: Digital and Analog. The line graph below provides data on the number

of watches sold by the company over four different years (2017,2018,2019 and 2020)
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e Question No. 37
In which year did the sales of Analog watches experience the highest decline compared to the previous year?
Options:

1.2018
2.2019
3.2020
4. Both 2019 and 2020

5. None of these
Answer : Both 2019 and 2020

Direction:
Study the information given below and answer the following question

A Titan company sold two types of watches: Digital and Analog. The line graph below provides data on the number

of watches sold by the company over four different years (2017,2018,2019 and 2020)
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e Question No. 38
What is the percentage increase in the number of digital watches sold from 2017 to 2020?
Options:

1.80%
2.94.44%
3.100%
4.95%

5.87.5%
Answer : 94.44%

Direction:
Study the information given below and answer the following question

A Titan company sold two types of watches: Digital and Analog. The line graph below provides data on the number

of watches sold by the company over four different years (2017,2018,2019 and 2020)
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e Question No. 39

By how many units did the total number of watches (both digital and analog) sold change from 2018 to 2019?
Options:

1. Increase by 56 units
2. Decrease by 40 units
3. Increase by 76 units
4. Decrease by 76 units

5. No change
Answer : Decrease by 40 units

Direction:
Study the information given below and answer the following question

A Titan company sold two types of watches: Digital and Analog. The line graph below provides data on the number

of watches sold by the company over four different years (2017,2018,2019 and 2020)
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e Question No. 40

Assume the average price of a digital watch sold by the Titan company was 32,500 in 2017, ¥2,600 in 2018, ¥2,800 in

2019, and ¥3,000 in 2020. What was the total revenue generated from digital watch sales across all four years?
Options:

1.33,971,200

2.33,176,000
3.33,296,000
4.33,196,000

5. None of these

Answer : 33,971,200

e Question No. 41

The distance between two points 'C' and 'D' is 1,800 km. Anita and Rahul can cover the distance between 'C' and 'D'
in 36 hours and 30 hours, respectively. If Anita and Rahul start from point 'C' at 10:00 AM and 1:00 PM, respectively,

then at what time and distance from point 'C' will they meet each other?
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Options:

1.520 km
2.600 km
3.900 km
4.750 km

5. None of these

Answer : 900 km

Question No. 42

Meera had Rs. 3500 with her. She invested Rs. ‘¢’ at 14% p.a. simple interest for 6 years and the remaining sum at
20% p.a. compound interest, compounded annually for 2 years. If the total interest received by her is Rs. 2300, then

find the value of ‘c’.
Options:

1.1250

2.1800
3.1900
4.1350

5. None of these

Answer : 1900

Question No. 43

The average weight of 9 students in a seminar is 42 kg. If the weight of 4 facilitators is also included, then the new
average weight of each person (facilitator + student) in the seminar becomes 48 kg. Find the average weight of the

four facilitators.
Options:

1.20.5 kg

2.80.5 kg
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3.50.5 kg
4.702 kg

5. None of these

Answer : None of these

Question No. 44

Together, 'P' and 'Q' invested Rs. 16,000 and Rs. 24,000 to launch their firm. After 'Q' departed after four months, 'R’
joined 'P' by contributing Rs. 4,000 less than 'Q'. Find the total profit made by the firm at the end of the year if, at

the beginning of the year, 'R' received a profit of Rs. 7,500.
Options:

1. Rs. 31,200
2. Rs. 11,300
3.Rs. 21,300
4.Rs. 21,000

5. None of these

Answer : Rs. 21,000

Question No. 45

A piece of furniture is marked 60% above its cost price and is sold for Rs. 1,512 after giving two successive discounts
of 15% and 10%, respectively. Determine the difference between the marked price and the cost price of the

furniture.
Options:

1. Rs.500
2. Rs.600
3.Rs.735
4.Rs.650

5. None of these

Answer : Rs.735



Direction:
What value should comein the place of (?) in the following number series?

e Question No. 46
313 318 308 323 303 °?
Options:

1.328
2.332
3.342
4.322

5.324
Answer : 328

Direction:
What value should comein the place of (?) in the following number series?

e Question No. 47
33 42 ? 87 123 168
Options:

1.55
2.60
3.62
4.58

5.63
Answer : 60

Direction:
What value should comein the place of (?) in the following number series?

e Question No. 48
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13 14 30 ? 376 1885

Options:

1. 81

2.88
3.93
4.78

5. 61

Answer : 93

Direction:
What value should comein the place of (?) in the following number series?

e Question No. 49

24 12 ? 24 96 768

Options:

1.8

2.16
3.18
4.12

5. None of these

Answer : 12

Direction:
What value should comein the place of (?) in thefollowing number series?

e Question No. 50

220 222 446 1340 ? 26812

Options:

1.5548
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2.5164
3.5240
4.5096

5.5362
Answer : 5362

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 51
(680 of 36% + 12) x 50 = ?
Options:

1.1000
2.1120
3.1020
4.1030

5. None of these
Answer : 1020

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 52
36 x16 + 40% of 140 = ? + 170
Options:

1.422
2.432
3.442
4.462

5. None of these
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Answer : 462

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 53
50% of ?=45+20x 4
Options:

1.200
2.230
3.250
4.240

5. None of these
Answer : 250

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 54
60% of 320 + 20% of 280 ="7?
Options:

1.250
2.278
3.248
4.218

5. None of these
Answer : 248

Direction:
What will comein the place of question mark (?) in the given expression?
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e Question No. 55
\/289 x 26 - 19 x 14 =?
Options:

1.176
2.156
3.126
4.136

5. None of these
Answer : 176

Direction:
What will comein place of question mark (?) ?

e Question No. 56
15.50% of 6240 — 426.31="?
Options:

1.540.89
2.462.35
3.625.43
4.582.61

5.486.23
Answer : 540.89

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 57

55.55% of 18000 — 1111="7? x 1M
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Options:

1.12
2.8

3.10
4.18

5. none of these
Answer: 8

Direction:
What will comein place of question mark?

e Question No. 58
. Sy 22
136515+ (7 +5) = 6" x 35
Options:

1.165
2.125
3.175
4.165

5.10
Answer : 175

Direction:
What will comein place of question mark (?)

e Question No. 59
\/? = 80% of 720 - 22% of 2500
Options:

1. 676

2.650
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3.550
4.632

5. none of these
Answer : 676

Direction:
What will comein place of question mark (?)

Question No. 60
{(48% /32) +18}/5=9 x ?
Options:

16

2.5
3.2
4.4

5. none of these
Answer: 2

Direction:
What will comein place of question mark (?)

Question No. 61
?% of 500 = 674 - 18% of 800
Options:

1.160
2.140
3.106
4.180

5. none of these

Answer : 106
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Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 62
2 2., _
(6°-57) % of 800 = 22 X /?
Options:

1.22
2.18
3.10
4.16

5. None of these
Answer : 16

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 63
(744 + 6) - (120/5) + 5.5% of 800 = 72
Options:

1.20
2.28
3.22
4.18

5. None of these
Answer : None of these

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 64
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500% of (121.8 +16.4 - 28.2) =? x 2
Options:

1.275
2.327
3.200
4.176

5. None of these
Answer : 275

Direction:
What will comein the place of question mark (?) in the given expression?

e Question No. 65
35% of 840 +16° = ? - 25% x 300
Options:

1. 650
2.552
3.625
4.220

5. None of these
Answer : 625

Direction:

Study the following information carefully and answer the below questions

Seven boxes - W, X, Y, Z, A, Band C are kept one above the other in a single stack, but not necessarily in the same
order. Box B is kept three boxes above box A. Only one box is kept between box B and box Y. Box Y is kept two
boxes above box X. Only two boxes are kept between box Y and box Z. As many boxes are kept above box X as

below box C.

e Question No. 66
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Which among the following box is kept just above box Y?
Options:

1. The box which is kept second from the bottom
2. The box which is kept third from the top

3. The box which is kept fourth from the bottom
4. The box which is kept second from the top

5. None of these
Answer : The box which is kept fourth from the bottom

Direction:

Study the following information carefully and answer the below questions

Seven boxes - W, X, Y, Z, A, Band C are kept one above the other in a single stack, but not necessarily in the same
order. Box B is kept three boxes above box A. Only one box is kept between box B and box Y. Box Y is kept two
boxes above box X. Only two boxes are kept between box Y and box Z. As many boxes are kept above box X as

below box C.
Question No. 67
What is the position of box W from the bottom?

Options:

1. Second
2. Fifth
3. First
4. Fourth

5. Third
Answer : Fourth

Direction:
Study the following information carefully and answer the below questions

Seven boxes - W, X, Y, Z, A, Band C are kept one above the other in a single stack, but not necessarily in the same

order. Box B is kept three boxes above box A. Only one box is kept between box B and box Y. Box Y is kept two
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boxes above box X. Only two boxes are kept between box Y and box Z. As many boxes are kept above box X as
below box C.

Question No. 68

Which of the following pair has two boxes between them?

Options:

127, C
2.Y,X
3.AW
4.Y,Z

5. Other than the given option
Answer:Y, Z

Direction:
Study the following information car efully and answer the below questions

Seven boxes - W, X, Y, Z, A, Band C are kept one above the other in a single stack, but not necessarily in the same
order. Box B is kept three boxes above box A. Only one box is kept between box B and box Y. Box Y is kept two
boxes above box X. Only two boxes are kept between box Y and box Z. As many boxes are kept above box X as
below box C.

Question No. 69

Which of the following boxes are kept above box B?

Y

1 z

Iy C

Options:

1.Both land lll
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2.0nly I
3.Bothlandll
4. Both Il and llI

5. None of these
Answer : Both Il and llI

Direction:
Study the following information carefully and answer the below questions

Seven boxes - W, X, Y, Z, A, Band C are kept one above the other in a single stack, but not necessarily in the same
order. Box B is kept three boxes above box A. Only one box is kept between box B and box Y. Box Y is kept two
boxes above box X. Only two boxes are kept between box Y and box Z. As many boxes are kept above box X as

below box C.

Question No. 70
Which of the following box is kept three boxes above box W?
Options:

1.Box Z
2.Box Y
3.Box X
4.Box C

5. None of these
Answer : Box C

Direction:
Study the given information carefully and answer the given question below it:

Point K is 16m to the north of point L. Point M is 4m to the west of point K. Point N is 24m to the north of point M.

point O is 10m to the east of point N.

e Question No. 71

If H is 12m to the south of point N, then find the distance between H and K?
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Options:

1.24/10m
2. 41/10m
3.61/5m
4. 4[5m

5. None of these
Answer : 47/10m

Direction:
Study the given information carefully and answer the given question below it:

Point K is 16m to the north of point L. Point M is 4m to the west of point K. Point N is 24m to the north of point M.

point O is 10m to the east of point N.

e Question No.72
In which direction and at what distance is point M with respect to point O?
Options:

1.26m, South-East
2.25m, South-West
3.26m, South-West
4.27m, North-East

5. None of these
Answer : 26m, South-West

Direction:
Study the given information carefully and answer the given question below it:

Point K is 16m to the north of point L. Point M is 4m to the west of point K. Point N is 24m to the north of point M.

point O is 10m to the east of point N.

e Question No. 73
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In which direction is point N with respect to point L?
Options:

1. North-East
2. South-East
3. North-West
4. South-West

5. None of these

Answer : North-West

e Question No. 74

If a four-letter meaningful English word is formed by using the 2nd, 3rd, 6th and 8th letter (from the left end) of the
word ‘DELEGATION’ then which of the following will be 2 nd letter of the word formed from the left end. If more

than one such meaningful word is formed mark 'Y' as your answer. If no meaningful word is formed, mark 'Z' as your

answer.
Options:

1L

2.E
3.Z
4.A

5Y

Answer:Z

e Question No. 75

How many pairs of letters are there in the word 'DIMNISHING' which has as many letters between them (only

backward) in the word as in the English alphabetical series?
Options:

1. Five
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2. Three
3. Six
4. Two

5. None
Answer : Three

Direction:

Read the directions car efully and answer the following questions.

Eight persons Akshit, Akash, Abhishek, Abhinav, Anubhav, Aarav, Akhil, Abhay are born in different months January,
February, March, April, May, June, July, and September but not necessarily in the same order. Akshit is bornin a
month having days less than 31 days. Two people are between Akshit and Abhay. Abhay is born after Akshit.
Abhishek is born immediate before Akshit. Equal number of person are born between Abhishek and Akash, and
Akash and Abhay. Aarav was born before Akhil and after Anubhav. Akhil was not born in a month which has 30

days.

Question No. 76
Who among the following is born exactly before Abhinav?
Options:

1. Akhil

2. Akshit

3. Akash

4. Abhishek

5. Abhay
Answer : Akhil

Direction:

Read the directions car efully and answer the following questions.

Eight persons Akshit, Akash, Abhishek, Abhinav, Anubhav, Aarav, Akhil, Abhay are born in different months January,
February, March, April, May, June, July, and September but not necessarily in the same order. Akshit is bornin a
month having days less than 31 days. Two people are between Akshit and Abhay. Abhay is born after Akshit.

Abhishek is born immediate before Akshit. Equal number of person are born between Abhishek and Akash, and



0D
ixam Pees @

Akash and Abhay. Aarav was born before Akhil and after Anubhav. Akhil was not born in a month which has 30

days.

Question No. 77
If all of them are born in a same year then who is the eldest of them?
Options:

1. Akhil

2. Akshit

3. Akash

4. Abhishek

5. Abhinav
Answer : Abhishek

Direction:

Read the directions car efully and answer the following questions.

Eight persons Akshit, Akash, Abhishek, Abhinav, Anubhav, Aarav, Akhil, Abhay are born in different months January,
February, March, April, May, June, July, and September but not necessarily in the same order. Akshit is bornin a
month having days less than 31 days. Two people are between Akshit and Abhay. Abhay is born after Akshit.
Abhishek is born immediate before Akshit. Equal number of person are born between Abhishek and Akash, and
Akash and Abhay. Aarav was born before Akhil and after Anubhav. Akhil was not born in a month which has 30

days.
Question No. 78
If all of them are born in a same year then who is the youngest of them?

Options:

1. Akhil
2. Akshit
3. Akash

4. Abhishek
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5. Abhinav
Answer : Abhinav

Direction:

Read the directions car efully and answer the following questions.

Eight persons Akshit, Akash, Abhishek, Abhinav, Anubhav, Aarav, Akhil, Abhay are born in different months January,
February, March, April, May, June, July, and September but not necessarily in the same order. Akshit is born in a
month having days less than 31 days. Two people are between Akshit and Abhay. Abhay is born after Akshit.
Abhishek is born immediate before Akshit. Equal number of person are born between Abhishek and Akash, and
Akash and Abhay. Aarav was born before Akhil and after Anubhav. Akhil was not born in a month which has 30

days.

Question No. 79
Who among the following is born in @ month having the least days?
Options:

1. Akhil

2. Akshit

3. Akash

4. Abhishek

5. Abhinav
Answer : Akshit

Direction:

Read the directions car efully and answer the following questions.

Eight persons Akshit, Akash, Abhishek, Abhinav, Anubhav, Aarav, Akhil, Abhay are born in different months January,
February, March, April, May, June, July, and September but not necessarily in the same order. Akshit is born in a
month having days less than 31 days. Two people are between Akshit and Abhay. Abhay is born after Akshit.
Abhishek is born immediate before Akshit. Equal number of person are born between Abhishek and Akash, and
Akash and Abhay. Aarav was born before Akhil and after Anubhav. Akhil was not born in a month which has 30

days.
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e Question No. 80
Find the odd one from the following.
Options:

1. Akhil

2. Abhay

3. Akash

4. Abhishek

5. Abhinav
Answer : Abhinav

Direction:

In the following question assuming the given statementsto be true, find which of the option among the given options
idare definitely true and then give your answer s accordingly-:

e Question No. 81

Statement:

Q=sC>R>M,L>Y>G=M

Conclusions:
LC>Y
I.LL>Q
Options:

1. Only lis true

2.Only Il is true

3. Either l or Il'is true

4. Neither I nor Il is true

5.Both I and Il is true
Answer : Neither | nor Il is true

Direction:
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In the following question assuming the given statementsto be true, find which of the option among the given options
ig/are definitely true and then give your answer s accordingly-:

Question No. 82

Statement:

B>E>D=S>C A>V=D

Conclusions:
.LR>C
I.B>A
Options:
1. Only lis true
2.0nly Il is true

3. Either l or Il is true
4. Neither | nor Il is true

5.Both I and Il is true

Answer : Only | is true

Direction:

In the following question assuming the given statementsto betrue, find which of the option among the given options
igare definitely true and then give your answer s accor dingly-:

Question No. 83

Statement:

N>L>M=U>S>GF

Conclusions:

.G

1. X

Options:
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1. Only lis true

2.Only Il is true

3. Either l or Il is true

4. Neither I nor Il is true

5.Both I and Il is true
Answer : Only | is true

Direction:

In the question below there are three statements followed by two conclusions| and I1. You haveto takethe three
given statementsto betrue even if they seem to be at variance from commonly known facts and then decide which
of the given conclusionslogically follows from the three statements disr egar ding commonly known facts.

Question No. 84

Statements:

Only a few Yarn are Sweater.

Some Sweater are not Shirt.

Some Shirt are Shirt.

Conclusions:

I. All Sweater are Yarn.

IIl. Some Shirt being Yarn is a possibility.
Options:

1. Both conclusion | and conclusion Il follow

2. Only conclusion Il follows

3. Only conclusion | follows

4. Neither conclusion | nor conclusion Il follows

5. Either conclusion | or Il follows
Answer : Only conclusion Il follows

Direction:
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In the question below there are three statements followed by two conclusions| and I1. You haveto takethethree
given statementsto be true even if they seem to be at variance from commonly known facts and then decide which
of the given conclusions logically follows from the three statements disr egar ding commonly known facts.

Question No. 85

Statements

Only a few Peacocks are Hens

All Hens are Tigers.

Some Tigers are Lions.

Conclusions

I. All Tiger is being Peacock is a possibility.
Il. Some Hens are Lions.

Options:

1. Both conclusion | and conclusion Il follow

2. Only conclusion Il follows

3. Only conclusion | follows

4. Neither conclusion | nor conclusion Il follows

5. Either conclusion | or Il follows
Answer : Only conclusion | follows

Direction:

In the question below there are three statements followed by two conclusions| and I1. You haveto takethethree
given statementsto be true even if they seem to be at variance from commonly known facts and then decide which
of the given conclusionslogically follows from the three statements disr egar ding commonly known facts.

Question No. 86
Statements:
Few language is program.

Only a few program is command.
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At least some command is order.
Conclusions:

I. Some program is not command.
II. All order can be language.
Options:

1. Both conclusion | and conclusion Il follow

2. Only conclusion Il follows

3. Only conclusion | follows

4. Neither conclusion | nor conclusion Il follows

5. Either conclusion | or Il follows
Answer : Both conclusion | and conclusion Il follow

Direction:
Read the directions car efully and answer the following question.

Prakash, Milan, Raman, Sudhir, Kartik, Komal and Preetam are seven person sitting around a circular table not

necessarily in the same order. All are facing inside.

Kartik sits third to the left of Preetam. Milan sits immediate left of Raman and in not an immediate neighbour of

Kartik. Prakash is an immediate neighbour of Sudhir and Preetam. Komal sits second to the right of Prakash.

Question No. 87
Who among the following sits fifth to the right of Kartik?
Options:

1. Sudhir
2. Preetam
3. Milan

4. Raman

5. Prakash
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Answer : Milan

Direction:
Read the directions car efully and answer the following question.

Prakash, Milan, Raman, Sudhir, Kartik, Komal and Preetam are seven person sitting around a circular table not

necessarily in the same order. All are facing inside.

Kartik sits third to the left of Preetam. Milan sits immediate left of Raman and in not an immediate neighbour of

Kartik. Prakash is an immediate neighbour of Sudhir and Preetam. Komal sits second to the right of Prakash.

e Question No. 88

How many person are sitting between Komal and Sudhir, when counted in anti- clockwise direction starting with

Sudhir?
Options:

1.One
2.Two
3. Three
4. Four

5. Five
Answer : Two

Direction:
Read the directions car efully and answer the following question.

Prakash, Milan, Raman, Sudhir, Kartik, Komal and Preetam are seven person sitting around a circular table not

necessarily in the same order. All are facing inside.

Kartik sits third to the left of Preetam. Milan sits immediate left of Raman and in not an immediate neighbour of

Kartik. Prakash is an immediate neighbour of Sudhir and Preetam. Komal sits second to the right of Prakash.

e Question No. 89
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How many person live between the person who sits immediate right of Prakash and the person who sits immediate

left of the person who sits immediate left of Sudhir?
Options:

1. One
2. Two
3. Three
4. Four

5. Five
Answer : Three

Direction:
Read the directions car efully and answer the following question.

Prakash, Milan, Raman, Sudhir, Kartik, Komal and Preetam are seven person sitting around a circular table not

necessarily in the same order. All are facing inside.

Kartik sits third to the left of Preetam. Milan sits immediate left of Raman and in not an immediate neighbour of
Kartik. Prakash is an immediate neighbour of Sudhir and Preetam. Komal sits second to the right of Prakash.
Question No. 90

Who among the following lives to the immediate right of Milan?

Options:

1. Prakash
2. Kartik
3.Raman
4. Preetam

5. Komal
Answer : Raman

Direction:
Read the directions car efully and answer the following question.
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Prakash, Milan, Raman, Sudhir, Kartik, Komal and Preetam are seven person sitting around a circular table not

necessarily in the same order. All are facing inside.

Kartik sits third to the left of Preetam. Milan sits immediate left of Raman and in not an immediate neighbour of

Kartik. Prakash is an immediate neighbour of Sudhir and Preetam. Komal sits second to the right of Prakash.
Question No. 91

Find the odd pair out.

Options:

1. Milan-Kartik

2. Sudhir-Preetam
3. Prakash-Komal
4. Preetam-Milan

5. Raman-Komal
Answer : Raman-Komal

Direction:
Study the following information carefully and answer the questions given below.

Six persons A, B, C, D, E and G are having different number of cars. B has more car than C. E has more car than D and
G. C does not have the least number of car. B has more car than E but less car than A. C has less car than G. G has 24

cars.

Question No. 92

What is the possible number of Car does D have?
Options:

1.26
2.34
3.25

4.28
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5.20
Answer : 20

Direction:
Study the following information carefully and answer the questions given below.

Six persons A, B, C, D, E and G are having different number of cars. B has more car than C. E has more car than D and
G. C does not have the least number of car. B has more car than E but less car than A. C has less car than G. G has 24

cars.
Question No. 93
Who among the following person has the least number of Car?

Options:

1.C
2.G
3.D
4.E

5. Cannot be determined
Answer : D

Direction:
Study the following information carefully and answer the questions given below.

Six persons A, B, C, D, E and G are having different number of cars. B has more car than C. E has more car than D and
G. C does not have the least number of car. B has more car than E but less car than A. C has less car than G. G has 24
cars.

Question No. 94

Who among the following person has the highest number of car?

Options:

1.C
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2.A
3.E
4.B

5. None of these
Answer: A

Direction:
Answer the questions based on the information given below:

DIRT FORT MAIN WEAR LOOP

Note: The 1St, an, 3rd and 4th letters are taken from left end.

e Question No. 95

How many letters are there between the first letter of the second word from the left end and third letter of the

fourth word from the left end as per the English Alphabetical series?
Options:

1. seven
2. six

3. eight
4. four

5. None of the above.
Answer : four

Direction:
Answer the questions based on the information given below:

DIRT FORT MAIN WEAR LOOP

Note: The 1St, 2”d, 3rd and 4th letters are taken from left end.

e Question No. 96
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If all the words are arranged in reverse dictionary order from the left end, then which is the second letter from the

left end of the word, which is second from the right end?
Options:

1F

2.7
3R
4.D

5.1
Answer: D

Direction:
Answer the questions based on the information given below:

DIRT FORT MAIN WEAR LOOP

Note: The 15t, an, 3rd and 4th letters are taken from left end.

e Question No. 97

If consonants of each word are replaced with immediate succeeding letter as per the English Alphabetical series,

then how many words have more than two vowels?
Options:

1. four
2.two
3.0ne
4. three

5.none
Answer : two

Direction:
Study the following information and answer the questions:
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A certain number of candidates are sitting in a row facing north. Only two candidates are sitting between Y and S.
D sits fifth to the left of X. G sits third to the one of the extreme ends of the row. Only three persons sit between S
and P. B sits second to the left of S. Less than 11 candidates are sitting in the row. Only two persons sits left of Y. G

sits immediate right of X.

Question No. 98
How many candidates sit in the row?
Options:

1.10
2.7
3.8
4.9

5.6
Answer : 10

Direction:
Study the following information and answer the questions:

A certain number of candidates are sitting in a row facing north. Only two candidates are sitting between Y and S.
D sits fifth to the left of X. G sits third to the one of the extreme ends of the row. Only three persons sit between S
and P. B sits second to the left of S. Less than 11 candidates are sitting in the row. Only two persons sits left of Y. G

sits immediate right of X.
Question No. 99
Who among the following sits third to the right of Y?

Options:

1B
2.5
3.X

4. Cannot be determined



5. None of these
Answer: S

Direction:
Study the following information and answer the questions:

A certain number of candidates are sitting in a row facing north. Only two candidates are sitting between Y and S.
D sits fifth to the left of X. G sits third to the one of the extreme ends of the row. Only three persons sit between S
and P. B sits second to the left of S. Less than 11 candidates are sitting in the row. Only two persons sits left of Y. G

sits immediate right of X.
e Question No. 100
How many candidates are sitting between D and G?

Options:

1.One

2. Five
3.Two
4. Four

5. None of these

Answer : Five
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